Team Losi, A Davision of Horizon Hobby, Inc

LOSBO0OS3
LOSA1702
LOSA1701
LOSA1707
LOSA1710
LOSA1723
LOSA1730
LOSA1750
LOSA3500
LOSA3502
LOSA3503
LOSA3505
LOSA3506
LOSA3507
LOSA3511
LOSA3512
LOSA3514
LOSA3516
LOSA3519
LOSA3522
LOSA3523
LOSA3524
LOAS3525
LOSA3528
LOSA3529
LOSA3540
LOSA3541
LOSA3544
LOSA4002
LOSA4003
LOSA4402
LOSA4407
LOSA4408
LOSA4409
LOSA4411
LOSA4413
LOSA4414
LOSA4415
LOSA4418
LOSA4419
LOSA4422
LOSA4424
LOSA4426
LOSA4427
LOSA4428
LOSA4429
LOSA4431

Mot Responsible fior Ty pographical Errors

BIGHT-T 1/8 4wd RTR wW/DX2.0,...covivvrerarrrrnsrersnns

Front Suspension Arm Sel.........ccvevessrrssrsssssnrenss 813,99
Front Susp. Arm Bushings ........ccooiiiiiinicinnannne $3.00
Front Spindles .. .. 310.00

Front Spindle Camt.rs

Rear Suspension Arms & Mls

Rear Hub Carriers...
Sway Bar Set ..
Diff Housing F/ R {?

Differential Gear & Shcl ﬁ SLt
F/R H.D. Diff Outdrive Cupb& le-r

Diff Seal Set: . i
Center Diff Dutdﬂ ve Cupq & I-"ms
F/R Diff Pinion Gear (10T)...

Antenna Kit ..

Antenna Caps SR
Main Chassis - Mdthl’It‘ {8 F]

Servo Saver Hardware (871 ]

eenns 811,99
..515.99

.. $7.00

- $19.99

eeeee $6.00
.. $11.99
$12.00
.. $3.50

rereeee 510,99
................SH.HH
Front Diff Ring Gear [431}
Rear Diff Ring Gear (43T) ...ccovivcviinneeriscresannsennnes
F/R DifT Pinion Couplers ....eeeeerveneeeseenissssnsnnns
Center Dift 48T Spur Gear ..........cimisissserssssivssin
F/R CV Driveshaft Set - (2)8T) oovvevrricnrerrreerrenns
F/R CV Driveshaft AxIes - (2) cooovviciiniiicscininneinnn
F/R CV Driveshaft Coupling Set - (2)..ccveviivecieinnns
F/R CV Driveshaft = QN8T) .....cccccvvmmireimsnriisisian.
Center CV Rebuild Kit = (8)(8T)..ccvvevereeeerisssenssanans
Center Front CV Driveshaft Assy (8T). ..ccoccevneees
Center Rear CV Driveshaft Assy (8T). coovevvveeennenn
Brike DISK Bet.....oinuuipcinivnississssssisvssivin
Brake Pads & SCrews ... ecccceessssesessesessseness
Brike Cam Set........oivm s

$24.99
$26.99
$10.99
524.99
$43.99
514.99
$5.50
528.99
$5.50
520.99
$20.99
$12.99
$6.00

........... 516.99

carans B2l
.. 51.25

512999

$13.00

SUERTINE POSE BEL. ..o saiinsssissstnisenssosssiinsiisissssss senies DO
Steering Bellcrank Plastics.........cooovinnimmmneerissessinnies $6.00
Steering Rack Set Short/Long & Hdw ................. 510,99
Front Chassis Brace Set... $5.00
Rear Chassis Brace... $3.00
Center Diff Mount & Brau: "Set $5.00
RAdiO Tray 8 MOUBES ... ooviissiaisasisisemisssssssnismn son $15.99
Switch Cover & Foam Pad.........ccooveiiiicnnnioninionies $3.00
Front Bumper, Tank & Filter Guard............ccco...... 34,00
Body Posts & Tank Mounts (8 & 8T) ..ccvevvvecnninnnen $5.00
Chassis Spacer/Cap Set ......cccccevvererivrrrsnrensrsesessssnen: $35.00
Pront GreathoX Set.....ommininsimisamsisimiis $8.00
Reat GearDOX BBl ivriosiiissmsissinisssirissbissrisornisant sobn $10.99
Rear Gearbox Bearing Inserts ........ccovvvevveericceniinnnes $3.00
Hinge Pin Brace Cover Sel.........c.ccoimimminmsnsisrans $5.00

LOSA4435
LOSA4436
LOSA4437
LOSAS540]
LOSAS5403
LOSA5419
LOSAS5424
LOSAS5426
LOSAS5429
LOSAS5430
LOSAS5454
LOSA5438
LOSAS5440
LOSAS5453
LOSAS461
LOSA6044
LOSAG046
LOSAG047
LOSAG048
LOSAG049
LOSAG050
LOSAG6109
LOSA6204
LOSA6206
LOSAG2135
LOSA6221
LOSAG227
LOSA6228
LOSAG6232
LOSA6240
LOSA6254
LOSAG6255
LOSAG256
LOSA6262
LOSAG263
LOSA6264
LOSA6270
LOSA6271
LOSAG272
LOSA6273
LOSAG274
LOSA62T7
LOSAG278
LOSA6279
LOSAG280
LOSAG6295
LOSAG296

£00-0320

Price List and
Exploded View

E ffective 05-01-07

Prices Subgect to Change Without Motice

Wing Mount Sel .......ccoveerrmenemrnresnsresrsessssssassanens $8.00
Body Mount Set (8T) (4)....cccormmrrmmmmrsmissrsrsssnrssssanses $3.90
Chassis Guard Set (8T )euuu e erereeeererreeereressens $12.00
15mm Shock Body 42.6mm........cccovveiiinnnvrnnninenn. 324,99
15mm Shock Body 50.5mm... ee 324,99
15mm Shock Tool Set .. s vie ST
15mm Shock Adjuster Nutﬁ (4)... . 51999
1 5mm Shock Boot Set - (4)... eeiee D000
Shock O-ring Set .. = 5251}
15mm Shock H!Eddt!"ﬂ {4} SO T - Wl b
15mm Shock Ends, Cups & Bushmgs ——. 3 |}

Shock Stand Offs...

4mm Rod End Set ..
Smm Rod End Set ..

Suspension Balls 8.8mm ..

Steering Ball Set 6. Emm
4-40 x 1/2" Cdphtdd ‘Ser.ws [Iﬂ‘}

Smm E-Clips ...

s v BN
15mm Shock Plsmn & Guldt. "':Lt - {”}
15mm Springs 2.37 X 5.0 Rate Black..........ccoceenne

15mm Springs 3.17 x 4.0 Rate Grey .......ccoeevernnen
HD Rod Ends & Balls ..........ccccoiivenivienmnssisosssasinsess

$7.00
$8.50
$8.50
.$5.00

enene $3.00
Suspension Balls 8. Emm l |dr'IE,LE|
.. 56.00

$7.50

$4.50

$1.50
4-40 x 3/8" Caphead Screws (10)......ccccvvvieevvnnennn. 31.50
#4 Narrow Washers (10) ..coevvvmiievirireririnensiseneeee 3125
4-40 x 5/8" Caphead Screws (10).....ccocceviicinninneense $1.50
4-40 Hardened Set SCrews ......oceeevrerivererervnsnssnsreeens 3 1.80
5-40 Hardened Set SCrews ....ccoccvevveeiveierinrnvnnseneenens 31.80
2-56 x 1/4" Caphead Screws (10)......cccereiinrneinnnenses 32,50
5-40 x 1/2" Caphead Screws (10).... e 3250
2-56 x 1/2" Caphead Screws {Iﬂ} $E‘3{1
2-56 x 1/4” Button Head Screws {i{i] iisassaeisssssiie LI
4-40 x 1/2" Button Head Screws (6)........ccoevvvvnnnnn. 31.50
8-32 x 1/2” Flat Head Screws (10)....ccoivvviciriinenins $2.50
8-32 x 3/4” Button Head Screws (8).ovvvvvvvvveinenenn.. 32,50
8-32 x 3/8" Flat Head Screws (8)......ccociviviiiericiinins $2.50
5-40 x 3/8" Flat Head Screws (10)....cvveeevvvnveinenenn.. 32.50
5-40 x 1/2" Flat Head Screws (10)....cccociimmivannsiinins $2.50
5-40 x 3/4” Flat Head Screws (10)...cooveevverrivinnnnn $3.00
5-40 x 7/8” Flat Head Screws (4).....ccccooviniiiiiiinnnins $3.50
5-40 x 1 7/8" Flat Head Screws (2).....ccccevveerineneenns $4.00
5-40 x 3/8" Button Head Screws (8) ccccoovvvviiiiinnnnns $4.00
5-40 x 1/27 Button Head Screws (8) .oooovvvvvvmenvreen $4.00
5-40 x 3/47 Button Head Screws (8) ..oovovvvvveiivnnnnnns $4.00
5-40 x 17 Button Head Screws (4) ....ccocvevveevivvaenn. $2.50
10-32 x 3/8" Oval Point Set Screws (4} .....ccccoevenee $3.00
8-32 x 1/8” Flat Point Set Screws (8).....ccccvvvvvvneenns $3.00



LOSA6297
LOSA6298
LOSA6299
LOSA6302
LOSA6306
LOSAG311
LOSA6350
LOSAG6351
LOSA6502
LOSAG6537
LOSA6538
LOSAG6539
LOSA6543
LOSA6945
LOSA6946

B2809
AS5430

Ab255
A5440

B2R10

32160
A6278
AG2ZT78
A5438
A5434

A6l
Ab2TS

A

5-40 x 1/8” Flat Point Set Screws (8)......cccccrvvivnnes $2.50
8-32 x 1/8” Cup Point Set Screws (8) .cococvvvevnnnnens $2.50
5-40 x 1/8” Cup Point Set Screws (8) ....cccocevvnnnen. $2.50
5-40 Lock NUts = Steel.....cocvevviermisvrissiesnersssssanes $£1.25
4-40 Aluminum Mini Nuts (10) ..ooooorviiiniinenee $3.50
8-32 Steel Lock Nuts (10) eieieieciiiieeeeee e sssans $2.00
#4 and 1/8" Hardened Washers ......coovceiiiiiinniiicennns $2.50
#8 Countersink Washers (8) .....coovvvveviiciinniericnnnnes $4.00
Hinge Pin-Studs (2)iianiiiamasini $4.50
Turnbuckles 3mm x 45mm w/ends .....ccoveeeviriieeenn. $6.00

Turnbuckles 5mm x 92mm w/ends .........cceeevveneee... $8.00

Turnbuckles 5mm x 100mm w/ends .....cocoevveveennn. $8.00
Turnbuckles 4mm x 98mm w/ends ......covveeiniiiiinnns $8.00
8x14x4 Rubber Sealed BB ...ooovevvevieeieeeeeieveeeevae, $11.99
6x10x3 Rubber Sealed BB.....coovooivivieirieiririssransans $11.99

3507 A5
A6302

A6299
AlT07

__ ATT40
A7780B

LOSAG6947 5x11x4 Rubber Sealed BB ........coccoviivirinvninsnnnns $11.99
LOSA6948 8x14x4 Flanged Rubber Sealed BB ..................... $14.99
LOSA6949 Clutch Bearing Set.........cciiviminniinnensiniesiin .$7.00
LOSAG953 1/27 x 3/4" Sealed BB .......cccovviieeriiiiniinnnnisninsssnsssnn $8.99
LOSAT7740 Truggy Whis, White, 17mm Hex (4).......ccovvnnveee. $23.99
LOSAT780B Truggy XXT Tires w/foam (Blue)(pr).......c.ccee0n.. $29.99
LOSAE13]1 SIGHT Wing, White .......ciiiiiniinniiasiiisnisissaens $9.00
LOSAB200 Body CHps (12) ceeiiiericcesienicsvisisneesessssasseesasannns $1.25
LOSAB301 TL Bubble Nameplates (4) .......ccvvivveireircinnenrcicnnnnns $5.00
LOSA8372 SBIGHT-T Logo Sticker Sheet ..........ccocvnrvennrssanians $8.00
LOSA8373 Team Losi Large Logo Sheet (8T) ..cccccoiiiiiiinenne $8.00
LOSA9101 Flywheel & Collet 4 Shoe .......coovcvveereerereeiecsnnnes $18.99
LOSA9103 Clutch Nut & Hardware - 4 Shoe ......ccocviviiniiiiinns £7.00
LOSA9104 Clutch Pins & Hardware - 4 Shoe ......ovveevveerivicnnens $5.00
LOSA9108 Clutch Shoes - Lightened Alum (2).........ccccceueee $14.99



A3505
AJS05

= AB356
O/ A3502

AH262

Ab262
Ab271
A62TI

A62T0

AD159 A6270—

AB264 —
— A6271

A9313

A2 T
Ad424 A6270— ,{_ :
1.,© S A6262
A6262 —
AG264
AG262 —
AB270 _‘j.,
A6264—. ¥ 6351

™ [ T— A6262
~— A6262

L AB2T1
_,-— A6271

A6270
AB262

Ad4l]

Add11 Ni=
A4407T—5
A4407 #

AH262

ABLS0D
ADl51

AQTOS
AG114




A3502

LOSA9114
LOSA9115
LOSA9116
LOSA9150
LOSA915]

LOSA9159
LOSA916]

LOSA9165
LOSA9166
LOSA9167
LOSA9313
LOSA9516
LOSB2160
LOSB2161

LOSB2203

i—‘( A3500

Clutch Springs - Gold (.0407 25 Deg).....cccoeevvennens $5.00
Clutch Springs - Silver (.040" 30 Deg).................. $5.00
Clutch Bell 13T ooviieecveennsseresssnssssssssnsesssssssens $18.99
AL FIMEE SEE. icoiinmisnismmssinvivaisais msbsiisnianivsissia $10.00
Air Filter Foams Pre-oiled 4 ea.....ccoovevvveereerinsnnnns $8.00
FUS] TN LB Xoiciiaiamisiasssmmbaasiisaiassstnmig $15.99
Fuel Tank Cap, Spring & Seal.......ccovvvevnivrnnnnnnes $4.00
Tuned Pipe Mount & Hardware ............cco..... s $4.00
Throttle/Brake Link Set.......ccovveniincerianreinerisenn, $14.99
Servo- Arm INSerts .. $3.00
Fuel Tank Mounting Set......cccvvvvvemeeverinnnereinsiniaeens $3.00
Fuel e Chps .. nmnnimnisimmmnmma s ol
Front Shock TOWer ......ccoovvviicinieiiniieiiie e, $10.99

R ol BROCK  TOWET . oinaismsmra aayiv
Hinge Pin Brace Set ......oovviviiiinrinnsinsinssninscnnns $11.99

LOSB2809
LOSB2810
LOSB283 1
LOSB3327
LOSB3506
LOSB3513
LOSB4106
LOSB5032
LOSB5054
LOSB5063
LOSB5064
LOSB5109
LOSB8031

Q\hl?ﬁﬂ

i

\

B2831

AS403

AS429
AS5429

A3440
A5429

A5440

B230Y

i

AS426

AS5424

Al1750

AB29S5
Bdl0oe ASd24
P @

AH945
AlT730

AB302

A3523

AG298
Plastic Shock Cap Set (2)....cciirissieisssrvssanions e $5.00
Front Shock Shafts (2)........cccmninmsinsirmssmicsssseessies . $8.00
Rear Shock Shafts (2):.cimiiiieimmiisiinmimmine $8.00
Clutch Shoe Set, Alum (2); 8BTR..........ccicneiiainane $14.99
Wheels Hex: Set. Blue..u i $19.99
20mm Wheel Hex Nuts, BL.......cccciismmmisimenes $4.00
Hinge P SeLiiinnnaiiisiie i st $11.99
Motor MOUDE SEL . cusmmsasannmii isinsnisssisiisisos $14.99
Exhaust Pipe Seals & Springs ........cccvvcvenineenrieerinns $6.00
Exhaust Manifold, 180Deg.......cccccoevnninenriinnnnionien $20.00
Tuned PP s sl $39.99
Spin Start Hex Drive Rod.......cciiemiinineiimesiissesrons £5.50
SIGHT-T RTR Body, Painted w/Sticker............... $49.99



B5105~_ ] |

B5105~

Spin Start

e

I\LDSHIE!EQ

S = f;fi;}j;l}\\— LOSR1060
==l LOSR1021
" LOSR1023
" “LOSR1024
@% LOSR1063
-

— LOSR1063

Lo o2 o LOSR1027
a3

— 1 T~ LOSR1026

_— LOSR1028

xaama P
LOSR1062 \ =l
LOSR5051 ot
v—msnmﬁ
251 \a )
LOsR1g30—D N0 | 3 G @ Q\_
\ — < \LosA9376
;'}'? . —-qf.--‘_}\l DYN913
VAN = DYN911

Engine Components

LOSA9376
LOSB5051
LOSB5111
LOSR1002
LOSR1021]
LOSR 1023
LOSR1024
LOSR 1026
LOSR1027
LOSR1028
LOSRI1030
LOSR1031
LOSR1032
LOSR1033
LOSRI1038
LOSR1039
LOSR 1040
LOSR 1060

Flywheel Collet w/SHhImS: ....ccccirenininsssiasssssarnssssannss $3.00
Exhaust Header Seals & Springs:.......ccccccvviiciinnnne $6.00
Spin Start Backplabe: .....ciceinimecimsiimismsimoesssonss $6.00
TL427 Engine w/ “Spin-Start” Backplate.......... $209.98
Head Button: M26SS ......covmimsmiimisssiisssssosnss $9.00
Head Shims, .1mm (2): M265S ........ccccoonvieeriinnnn $2.00
Head Shims, .2mm (2); M26SS .......cvcienicneniienns $2.00
WIS PR MZOSE . i isimvisaimssisnasimimmsismmsigas s $4.00
Wrist Pin Clips (2): M268S........c.cociinisenionssaisonssi $2.00
Connecting Rod: M265S......cccimsssimssmssssanssnss £35.99
Crankshaft (w/PS)SC: M26SS.........ccccecrnnieeninnes $£59,99
Backplate: Pi5: M26SSE ....cmmmissmsissiismsumsassnsniss $6.00
PS One-Way Bearing: M26S8S .........ccccieiiieeniien 514,00
PS8 Shadt: M2OSS .., iuiiuiisisnisisvisssivssmsisssmnisnisssiss $2.50
O=Ring Set: M2OSS:.iiiiisiiimnianiisesnsimiosnd vidass $7.00
Head Screw (4): M26SS..... ..o coneimsissnsssssssssnssosess $2.00
PS Screw Bet: M26SS .. ciiiviiiininsisssiosissrins isisi $3.00
Cylinder Head, Grey: TL427........ccccniiiniiinnnns $49.99

LOSRI1062
LOSR1063
LOSR1064
DYNO911

DYNO913

DYNO915

Spin Start
LOSBS100
LOSB5102
LOSB5103
LOSB5105
LOSB5106
LOSB5109
LOSBSI111

Radio Gear

SPMI1200
SPM20200
SPM3601
IRPSZ650

. I
-
LOSR1038
LOSR1032
LOSR1031
LOSB5111 LOSR1033 LOSR1040

CranKCASE: TLAZT ninesusvisvisivsser spasass s soss $71.99
Piston/Bleeve: TLAZT i ciiivivaivienisimsissresaissins $49.99
Slide Valve Carb, 8.5mm: TL427.......ccccevviriivnnnns $46.99
Carh:Ret Post Setccsnssimiiiabniiiaiam .$5.99
FYONE BBANING. ..ocviisanivspmisimensmssisissin miasis s sigusvis $9.49
Roear Bearine. . i $19.99
Spin-Start Hand Held Starter..........ccoccciiiciiennnann $49,99
Spin-Start Motor & Battery Leads ...........cccuuu..... $16.99
Spin-Start Mechanics ..........coocecvieeeiniiciinissasanns $22.99
Spin-Start Hand Strap & Pin......cccccivecinicinaniinnnne $5.00
Spin-Start Case & Switch Set........co.ccciiiiiiiiniennnns L58.00
Spin-5tart Hex Drive Rod (long).......ccccevicnneineiennes $5.00
Spin-Start .21-.26 Backplate .........cc.ccciuiiiinisnrnncnnns 56,00
SR 3000 DSM 3-Channel Receiver: Surface ..... $109.99
DX2.0 DSM Transmitter w/servos......oeeieeresans $249.99
Z270 Standard Race Servo.......cievoisisisonsiasns $24.99

Z650M High Torque.........cooooeminimiiiieeciraenens $69.99



Team Losi has a revered heritage in the fuel business having produced

the most popular racing fuel for a number of vears prior to turning

their attention exclusively to the manufacture of electric off-road cars.
The new Nitrotane brand fuel has been developed by some of the most
knowledgeable and successful nitro racers spanning over 4 decades.
Nitrotane provides clean running and superior protection and perfor-

mance. With a complete oil formulation laboratory and unmatched

testing facilities at their disposal, Team Losi has the unique ability to
create a specific lubrication package and maintain the highest stan-
dards in quality control. Only the absolute highest grades of methyl
alcohol, genuine US made nitromethane, and hi-tech lubricants are
used. Nitrotane uses both castor and synthetic oils as well as exclusive
additives to provide performance and protection for all types of sport
and ready to run engines. Exclusive power and anti foaming agents as
well as corrosion inhibitors are used to provide stability and peak per-
formance in extreme nitro environments. Unlike most fuels, Nitrotane
comes in a UN approved steel can to prevent leakage. degradation and
contamination. This means each tank of fuel will yield consistent and
reliable power while burning clean and offering the highest level of
protection and performance.

Team Losi - A Division of Horizon Hobby Inc.

4105 Fieldstone, Champaign, 1L 61821
(877) 504-0233

www. TeamLosi.com - feedbacki@ TeamLosi.com

LOSFO0320
LOSF0420
LOSF0330
LOSF0430
LOSFO120
LOSF0020

Nitrotane Race Blend 20% Gallon .........ccoou........ £35.00
Nitrotane Race Blend 20% Quart.........ccccceveenneee. $14.99
Nitrotane Race Blend 30% Gallon..........cccccvueee. $40.00
Nitrotane Race Blend 30% Quart..........cccccovenne.e. $17.99
Nitrotane 20% Quart ... $11.99
Nitrotane 30% Gallon......ccccccveieicvcisciereseeeessens $34.00

LOSAI1708
LOSAL7I1I
LOSALTI6
LOSAL1737
LOSA1744
LOSA1745
LOSA1746
LOSAL747
LOSA1748
LOSA1749
LOSA3517
LOSA3530
LOSA3531
LOSA4416
LOSA4417
LOSA4430
LOSAS5277
LOSA5278
LOSA5279
LOSAS5280
LOSAS5281
LOSAS5282
LOSAS5283
LOSA5284
LOSA5285
LOSA5286
LOSA5411
LOSAS413
LOSA3420
LOSA542]
LOSA5450
LOSAS5451

Option Parts

Alum. Front Spindles .....ceamsmsmssssisrsniresisine TBA

Alum. Front Spindle Carriers.........cccccoeueevieencns TBA

Shock Tower Front BT ....cisiimiissnassisssnsiusisissns $29.99
Shock Tower Rear BT ...c.ccivevssisemssisesssrsasssssrasassrons $31.99
Front Hinge Pin Brace Set - AL ........ccoccooveviiincnn. $8.99
Rear Inner Hinge Pin Brace...........cccocoivniiiennincnn $4.00
Rr Outer Pin Brace 3T/21......c.cconnvemisirasssssnsanisans $11.99
ReOuter Pin Brace 2T/2A....ccooviiemiissasssaiossivons $£11.99
Rear Outer Hinge Pin Brace 2T/3A...................... $11.99
RrOuter Pin Brace 3T/3A .. civiciisiioiiiasissnivons $11.99
Center Diff 47T Spur Gear......ccccccvvierevecenniieceenen. 524,99
Wheel Hexes(pr) Hard Ano.........ccccccevineesiiinneenenns $12.99
Wheel Nuts & Pins - 4eg;.........ccovvvvmeriiiensiamnssernsess $7.50
Alum. Front Chassis Brace..........c.ccovmiverinsivisssnsons $22.99
Alum. Rear Chassis Brace.........cccccoeiiiersnnninessisses $16.99
Al Rear Gearbox Bearing Insers .....ccccccevveeeiinnns 514.99
SO EId, TOODGE cocimansiimmsiiimmmssmin i $7.50
Stlvcon: Flubd, 200008 ciaiiiiiiniimsirisas sobnsa $7.50
Sthicon Fluid, F000CE. ...ciimesemisiminmssnsimsanmisss $7.50
Stltcon: FINKA, SO00GE ... iiimniiimisiirisessines $7.50
Stlicon Fluid, 7000C8.....cummemrisummssimomsirsmisan st $7.50
SHicon Flukd, FOU00CS . iiiniiiiinimiimiismiis $7.50
Silicon Fluld, 1500008, rissrusnmmimessmssimmss $7.50
Silicon Flutd, 20,000¢8......c.mmmiivimisiinssinin $7.50
Silicon Flokd, 30:00008......orsmmissivsasnivsiins $7.50
Silicon Fluid, 50,00005.....ciuivamisiassinsrsssrsssies $7.50
15mm Shock Shaft 4x30mMm ...coovvieeiverisriernisnn $8.00
15mm Shock Shaft 4X57TMM .civieeniiesersnessrsssssssseans $8.00
15mm Shock Caps TOp - (2)....ccvcrisnmransssnsnninass $14.99
15mm Shock Caps Bottom = (2)......cc.occeeinrincanricanns $9.00
15mm Springs 2.3 x 4.1 Rate Red.............ccocsrurn $8.50
15mm Springs 2.3 x 4.4 Rate Silver.........cccce..... $8.50

LOSAS5452
LOSAS5454
LOSAS5455
LOSAS5456
LOSAS5457
LOSA5458
LOSA5459
LOSA5460
LOSAS5462
LOSA6500
LOSA6501
LOSAT741
LOSA8098
LOSA8130
LOSA8132
LOSA9107
LOSA9112
LOSA9113
LOSA9116
LOSA9117
LOSA9118
LOSA9119
LOSA9155
LOSA9156

15mm Springs 2.3” x 4.7 Rate Green..........cc...... .$8.50
15mm Springs 2.3" x 5.3 Rate White..................... $8.50
15mm Springs 2.3" x 5.6 Rate Grey .......ccc.cceeennn $8.50
15mm Springs 3.17 x 2.5 Rate Red.......c.ccccevvvnnne. .58.50
I5mm Springs 3.1” x 2.8 Rate Silver...........ccccc. $8.50
15mm Springs 3.1" x 3.1 Rate Green.................... .$8.50
15mm Springs 3.1" x 3.4 Rate Black...................... $8.50
I5mm Springs 3.7" x 3.7 Rate White..................... $8.50
I5mm Springs 3.7" x 4.3 Rate Purple....................58.50
Hinge Pins 4 x 66mm TiN (2).....ccccccniiciinricncancs $11.00
Hinge Pins 4 x 21mm TiN (2) ... $8.50
Truggy Wheels Yellow 17mm Hex - 4ea. ............ $23.99
S8IGHT-T Truggy Body w/masks & Stickers........ $33.99
S8IGHT Wing-Black ........ccooiiniiiniiiinicicies $9.00
Universal Wing Kit, Yellow .......ccccccveeviineenrevenens $10.99
Clutch Shoes - 2 Composite.......cceuniveemimnsissnsnsens $11.99
Clutch Springs - Black (.036™ 25 Deg) .......ccccue..... 35.00
Clutch Springs - Green (L0367 30 Deg)...ccvvvevernnenns $35.00
N BEN-I3F  rrissiamnamsissmanmiisiamss 51899
Clutell Bell FLainciisamiiainsgiism $18.99
G BEl 15T iscismumiminsssismssmpmmesiseans $18.99
Chuteh Bell YoL 5 oinaiiausminiii i $18.99
Quick Change Engine Mount Set: 8B, 8T............ $45.99
Quick Change Engine Mount Only: 8B, 8T......... $20.99

LOSA17780B Mtd XTT Tire, Blue w/Yellow Wheel (Pr); 8§T.. $39.99
LOSA27780B Mtd XTT Tire, Blue w/White Wheel (Pr): 8T...$39.99

LOSA99004 Team Losi Cargo Bag..........cccunsvssisesiniassininsnns $69.99
LOSA99070 Team Losi Fast-Fueler.........cccrsrmmeesrsnserssrssassans $49.99
LOSB4604 17mm Wheel Wrench.......cccovvviicninmmnnnnisesnnns $22.99
LOSB5201 Turbo Fueler Fuel Bottle, 500cc........cccccoeeviiinnnnens $9.99
LOSB5221 Alum Glow Driver w/NiCd & Charger................ $22.99



	Exploded-View-RTR-for-web-1.png
	Exploded-View-RTR-for-web-2.png
	Exploded-View-RTR-for-web-3.png
	Exploded-View-RTR-for-web-4.png
	Exploded-View-RTR-for-web-5.png
	Exploded-View-RTR-for-web-6.png

